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< 173,928
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= 126,050
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= 173,928
Al 2,272,397
SEEY3 X3 1,435,124 1,417,241 17,883
sSEXNTASXH 507,030 540,058 N 33,028
101 @121l 130,934 119,556 11,378
04 JI2ZtH 22 XNEE S 130,934 119,556 11,378
O & At 22l 14,545
23 51,760& x2H 20 52 10,352
=54 51,7603 x2H *213F 2,174
-Hisasotxd 51,760& x2Y x5 518
“AEE JI22E3 13,044,000& *11.5% 1,501
OBiHEl 22 AFL(2MAH ATH, 221) 29,089
23 51,7603 x4 20 x5& 20,704
FE4 51,760& x4 x213 4,348
-Hea3EIIE 51,7603 x4H x5 1,036
A28 JI2R2E23 26,088,000& *11.5% 3,001
OYiel Z2¢ Md(ogdxte &&) 58,200
PAR=E=] 200,000& 309 »9& 54,000
-28 L 2EY 140,000& *30H 4,200
Osgolacda stAA™H (oY Xe &2E) 29,100
=23 200,000& 159 0 & 27,000
-28 2 20&EY| 140,000& * 154 2,100
201 LEr2 Y| 154,696 164,562 ~9,866
01 At 22l Yl 42,416 37,742 4,674
O1.8t=2H| 21,380
-SEXEAY dEtx=2Y| 4,500,000 4,500
-SEXNEZAIY BN RO 20,000& x 1508 3,000
- SOEA & =HoIg 2 ROHUAIAH
220,000 20 A~ %12 5,280
-2 Ef 22l Al AE 25,000 x12& 300
—AHAEOIMEE =25 700,000& *23| 1,400
-EEAN AS =42 350,000& *63] 2,100
M|t EE =25 300,000& x12& 3,600
-SHe 22 EA 294Hl 100,000 12 1,200
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& sZ=&=st N (&)
SA - BB B () - MM - BES Ol &t o San HmEET
03.28=¢ 420
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O5.=2 &l 14,616
“NEJNEYR FA AZA2Z LRI 24
7,000 «6H* 122 «12& 6,048
~SNYA AAADLT B4
7,000 9 8 12 6,048
—SOIHAUAIE A AZHA2 2R 24
7,000 «3x102 «12& 2,520
O6.8 1=z 6,000
S N33EAY ESNH, 240 X
500,000& x123] 6,000
02 2324l 112,280 126,820 A 14,540
O1.3322LHA 57,300
-3 9,900
T EA 300,000& =122 3,600
SHA&ED 35,0003 1500 & 128 6,300
-HIIe3 36,000,000& 36,000
“AGtER3 5,000,000& 5,000
-BE= 4,600,000& 4,600
-Hiel2E sEa 1,800
I3 100,000 =10 A+ 12 1,200
Hdot=ER3 50,0003 100 2 +12& 600
O2.49=dl 16,317
AR e o2 (ML)
1, 1003 *95 6 Al 2t * 150K A 9,405
-0l& X AZH| 1,600& 604 *83| *9IH & 6,912
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ONMESIAHLUAIE A AldE2 Y
90,000, 000& = 14! 90,000
03 Al 201 Y| 360 0 360
OAEE 0l
100,000,000 *0.72/100%50%< & 2> 360
402 SI2FXH=20| ™ 20,000 20,000 0]
01 It EANSE X (M) 20,000 20,000 0
OXBI3 L F4=3 HRAE
20,000,000 * 104 & 20,000
405 XHA&HF S HI 1,600 7,000 N5,400
01 AL 2 FF S| 1,600 7,000 N5,400
OY&AA oz A 1,600,000 = 1CH 1,600
S&EQHE 4 195,695 194,245 1,450
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SRS UDET AA2DX ZA
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206 M = Hl 20,000 20,000 0
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2N sEXNEY
il z¢  sELIN(sadsd/=d - &)
& sZ=&=st N (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-JleEs 70,000 #4202 x9 50,400
=g 70,0003 »4H «38=F 10,640
—ANRSF Y 70,000& »4H +x9H 2,520
-AHEE D223 63,560,000 *11.5% 7,310
201 Let24dH] 65,731 81,688 A 15,957
01 At 22/l 11,180 13,900 A2,720
O1.get==2Hl 10,200
S H LAY & et=ZH|
150,000 34 2+ 123 5,400
—SIIHLUAE A RAAHIAAE (SR HT
) 200,000 x204 A+ 12 4,800
0O3.29+Y 980
~SIIHYHAIY 2SS 5o g
70,000 7 X »23] 980
02 =24l 54,551 67,788 N 13,237
O1.332=LHA 30,005
-SIHYUME L 2S(ER,M2) 15,960
C I3 600, 0003 x204 2 12 14,400
H3R3 50,0003 201 2~ x128 1,200
Hdot+=ER3 15,000 200 2+ 128 360
-AU=sIH B8 14,045
OO A 83,000 »160CH 13,280
© KX 255,000 *3CH 765
O2.9=Hl 5,280
-SIOIHYHED el
1,100& *24 *BAl 2tx100L «30H £ 5,280
O3. A& ZHl s Xl 19,266
-EE L ¥ JU=sIIAH KX
150,000& = 100CH 15,000
-SIIHYUAME L A= 22dl(5E0I6t,
S8 482 MA8) 1,118& »2,420m 2,706
—SIIHYUAME S SHOIXK & 2HEZ20E
PN 130,000& = 12& 1,560
206 T 2 bl 6,000 3,000 3,000
01 =8l 6,000 3,000 3,000
OsIH=xclf88 & dUsIA HE 7
30,000& 2008 6,000
401 Al HI & 28I 100,000 0 100,000
01 A& HI 100,000 0 100,000
OsIIHYUHAIS A MEAIE &X
50,000,000& »24! 100,000
405 XHoHF S HI 60,000 0 60,000
01 AL ESFH S 60,000 0 60,000




2N sEXNEY
HE: 59 SELUNA(SYHYSM/5Y - 5&)
el sEZHE A (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OsJIHLUAME L 28t=3 2l X2 (3.58)
50,000,000 = 1CH 50,000
O2Et&sl el Xtgd 2EHE 10,000, 000& 10,000
SENEI MEIHLZ ARG X2 24,500 24,500 0
307 glz2+ol & 24,500 24,500 0
02 QIZtE A AMHEE 24,500 24,500 0
O=sZEXNE X MEIHLZ AZZ 24,500,000 24,500
HsHESH 120,646 80,000 40,646
201 Let24d] 21,116 0 21,116
01 At 22l 21,116 0 21,116
O1.det=2H| 6,200
-AsHEAY XF Let=EH 2,700,000 2,700
-AsHEASY LW M 5,000& *700 3,500
03.2g8=¢ 2,900
-AsHE &Es0 EEHME 2AE 2,900
c ol 130,000 10H 1Al 2+ 1,300
= 80,0003 x 10 *2Al 2¢ 1,600
O5.2&Hl 2,016
-HSHENEAY = AIAAZ 2N =4
7,0003 x2H*x12L 128 2,016
06.9xt= 10,000
AsAE HEsS LY 2AYR
5,000,000& =23l 10,000
202 44l 1,080 0 1,080
01 S LHOIYI 1,080 0 1,080
OXsHE MEsts 2tgal It Ol
60,000 *x3H 62! 1,080
206 M= Hl 4,250 0 4,250
01 MHZ 8l 4,250 0 4,250
OA=sHE =) EEHE 8=
15,000& 30 x53] 2,250
OFsHE E2ME A4s5MHE 20,0003 «100H 2,000
301 e A3 4,200 0 4,200
09 A HIE &S 4,200 0 4,200
OA=HE =0t HEAHE
20,0003 30 #53| 3,000
OFsHEZEZS Eltsgel ol
60,0003 x10H #23| 1,200
402 RI2HX20| ™ 90,000 80,000 10,000
01 2I2F 2 A E = (RERTH ) 90,000 80,000 10,000
OF=sel S4A8sIIH XA
2,000, 000& »10CH x50/ 100 10,000
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OA=sQ dsJletxd At Y
20,000,000 8% *50/100 80,000
st0iel Z2&X 15,000 14,000 1,000
201 £B-2dH| 15,000 14,000 1,000
01 At 22l 8,000 0 8,000
O1.eet=2H| 8,000
-Si0el Z2&X =&l 8,000,000& 8,000
03 A2 E HI 7,000 14,000 A7,000
OY%iel Z&X 7,000,000& 7,000
sSIASEL JI=Xd 584,991 419,040 165,951
= 173,928
Al 411,063
SENESRH ML NJA<EXER> 3,200 3,200 0
< 960
Al 2,240
202 O4dl 3,200 3,200 0
= 960
Al 2,240
04 =Xl &t H 3,200 3,200 0
OSAHTR SAEE X0
3,200,000& »1H 3,200
< 960
Al 2,240
SEIHUSSEHEH X A<E > 6,000 0 6,000
< 1,800
Al 4,200
405 TtabH SH| 6,000 0 6,000
< 1,800
Al 4,200
01 AL EZFH S 6,000 0 6,000
OnsgsJIAH(RACILEEI) 6,000,000& 6,000
< 1,800
Al 4,200
SO AL UM LA X RA<E E> 54,311 0 54,311
< 16,200
Al 38,111
101 1Al 54,311 0 54,311
< 16,200
Al 38,111
04 JI2ZtHZ22HEE =+ 54,311 0 54,311
OsJIHY UM A XA 54,311
-Jlga 51,7603 *4H 20«9 37,268
< 11,085
Al 26,183
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X ZH -
L= B

el

= _ = d =
CHE L GRA(SA) - HRAMY - BES 0] &b 2 e
SIEE 51,7602 12 202 22 2,071
= 622
Al 1,449
-F54g 51,7609 +4% +38F 7,868
< 2,361
Al 5,507
-F549 51,7601 1% 9% 466
= 140
Al 326
AR EINSY 51,7602 42 +52 1,036
< 311
Al 725
AR JIRRLZ 48,709,008 +11.5% 5,602
< 1,681
Al 3,921
NB B3 A< E> 28,800
< 8,640
Al 20, 160
Uur 2 | 28,800
< 8,640
Al 20, 160
01 AL 22l 28,800
Ol.ger+gt| 28,800
~sYoNREE 282 40,0009 +720% 28,800
< 8,640
Al 20, 160
SN R4V GHOlHr<BES 2,000
< 600
Al 1,400
SRR 2,000
< 600
Al 1,400
EIET 2,000
OSZXNEXH2452 oI+ 2y

2,000,000%! *1% 2,000
< 600
Al 1,400
SR EOE BIYIK A< E> 7,560
< 1,512
Al 6.048
SRR 7,560
< 1,512
Al 6.048
SALAHI P A 7,560
OSEXTRUE &It XY 60,0008 +126% 7,560
= 1,512
Al 6,048
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el
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= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
SsEXNETL BHES KNIA<EXR> 15,000 15,000 0
= 4,500
Al 10,500
301 gt d= 15,000 15,000 0
< 4,500
Al 10,500
09 SALAHIEA S 15,000 15,000 0
OsZEXNEA UM gsns
60,000& x50 *52] 15,000
< 4,500
Al 10,500
B SRALNESHEZZHI XN (MR )<EX 30,000 30,000 0
>
< 9,000
Al 21,000
402 RIZEX 201 A 30,000 30,000 0
< 9,000
Al 21,000
02 U2 TEAILEZ(0IETHR) 30,000 30,000 0
O-dZE2TH XN 1,000,000& »30CH 30,000
< 9,000
Al 21,000
MEINHS S E O X R<E E> 7,200 1,360 5,840
< 1,440
Al 5,760
301 LA 3 7,200 1,360 5,840
= 1,440
Al 5,760
09 SAAHIE &S 7,200 1,360 5,840
OMEINMHS 018 &I
60,000& x120H 7,200
< 1,440
Al 5,760
MEINHS R MEEZERIA<E D> 20,800 20,800 0
= 6,240
Al 14,560
201 2et24d] 20,800 20,800 0
< 6,240
Al 14,560
01 At 2teltl 20,800 20,800 0
O1.det=2Hl 20,800
~MENMEE MREIRAY
40,000& x520H 20,800
< 6,240
Al 14,560
Ol & St OICHH 45l AT 2 o < &> 4,000 2,000 2,000
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 1,200
Al 2,800
301 et 8= 4,000 2,000 2,000
< 1,200
Al 2,800
06 212tol=2l 04 dl 4,000 2,000 2,000
OS43le sieloia AL
2,000,000 »x2H 4,000
< 1,200
Al 2,800
M=ot sEINESYH ZZHE AH<EXR> 15,000 15,000 0
< 4,500
Al 10,500
307 glz2+ol & 15,000 15,000 0
< 4,500
Al 10,500
02 It HAMHEE 15,000 15,000 0
O#=FSENYSH TRHME AlY
15,000,000 =104 2 15,000
< 4,500
Al 10,500
SENHS M)z SHABY XA<BE> 20,800 17,000 3,800
= 6,240
Al 14,560
402 RI2FX=01 M 20,800 17,000 3,800
< 6,240
Al 14,560
02 QI EAISEZ (OIS ) 20,800 17,000 3,800
OHE NItsdA dsERI 23
350,000& »40CH 14,000
< 4,200
Al 9,800
Os&d X 232 30,000& = 100CH 3,000
< 900
Al 2,100
O==&8 AX0t E= 20,0002 »190CH 3,800
= 1,140
Al 2,660
S M4-HE R DHES <2 X> 6,000 6,000 0
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Al 4,200
206 M= Hl 6,000 6,000 0
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Al 4,200
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< 1,800
Al 4,200
AHUZE2ESX3<EL> 520 520 0
< 156
Al 364
201 ¢er24| 520 520 0
< 156
Al 364
01 At 22l 520 520 0
O1.get==2Hl 520
4-HUEES 5= 8,000& »65H 520
< 156
Al 364
AHS 25 2 X & Ko o & <2 X > 2,000 2,000 0
= 600
Al 1,400
301 e A3 2,000 2,000 0
= 600
Al 1,400
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OsdSIIBUsE 2 13,102
22 51,7603« 1H 202 x93 9,317
X 4,658
Al 4,659
=54 51,7603 » 1«38 1,967
Xl 984
Al 983
-ARESFIIsE 51,7603 »1H +9 466
X 233
Al 233
-AHEE J|&22RE3 11,750,000& *11.5% 1,352
Xl 676
Al 676
201 L2l 48,348 0 48,348
Xl 24,174
Al 24,174
01 At 22l 48,348 0 48,348
O1.4et=EHl 37,638
=42 IBRRSE ALEH L8|
3,638,000 3,638
X 1,819
Al 1,819
-SAE2 JIBUsE UM 2 R ME
20,0002 x10& *202 4,000
X 2,000
Al 2,000
-SME JISNsE 28 7L
100,000& x50& *6 Ml E 30,000
Xl 15,000
Al 15,000
03.2g8=¢ 10,710
-S4 E OB USsE WUF dMeE 9,800
T Eg2AAIE) 250,000 x203| 5,000
Xl 2,500
Al 2,500
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A sEXA L
B S0 SEYMNA(SPHSSM/5Y - 58)
el Mesells NEIlY X4 CER-ED
A B (EA) - MRAY - BES Of &t o4 il HIDE2
S A=) 120,000& »203| x2 Al 2t 4,800
Xl 2,400
Al 2,400
“SMSITIRE BHITY  HBSAAE A
ol=g 490,000 490
Xl 245
Al 245
“SMSITIRE BUTY - HFAAS O
| 60,0003 +7H 420
Xl 210
Al 210
202 o4 Hl 2,400 2,400 0
Xl 1,200
Al 1,200
01 SLHOHI 2,400 2,400 0
Os4E JIBRSH HWA0HZ oYl
60,000 x4 22 x53] 2,400
Xl 1,200
Al 1,200
206 M= Hl 4,500 0 4,500
Xl 2,250
Al 2,250
01 M= Hl 4,500 0 4,500
OsttE JI3usd NSy 29 45
= 20,000 *15& * 153 4,500
Xl 2,250
Al 2,250
401 AlEHIZ R0 8] 129,000 727,600 598,600
Xl 64,500
Al 64,500
01 Al&HI 129,000 715,500 586,500
OsttE IHSsuUsE SUELSA
40,000, 0003 * 14 40,000
Xl 20,000
Al 20,000
OsttE IH3usSE ANESA
63,000, 000& » 14| 63,000
Xl 31,500
Al 31,500
Ostg Iz usd Teldsgd 2l X3
At 1,000,0002 * 14! 21,000
Xl 10,500
Al 10,500
OsdtE IHSUFTE JEU EXSA
5,000,000& * 14! 5,000
Xl 2,500
Al 2,500
405 TtatFH S 302,650 0 302,650
Xl 151,325
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2N sEXNEY
HE: 59 SELUNA(SYHYSM/5Y - 5&)
gel: d2sglls NTJlg &4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 151,325
01 AL EZFH S 302,650 0 302,650
Osdt2 IH3usE 302,650
&l 281,000, 000& 281,000
Xl 140,500
Al 140,500
-2 A 250,000 *26 4 6,500
Xl 3,250
Al 3,250
-oI Xt 200,000& *33H 6,600
X 3,300
Al 3,300
-IHHIA 250,000 * 174 4,250
Xl 2,125
Al 2,125
-dFH 1,150, 000& »3CH 3,450
Xl 1,725
Al 1,725
-2 M AIEDI 700,000 = 1CH 700
Xl 350
Al 350
-2 A 150, 0002 = 1CH 150
Xl 75
Al 75
ARsg(HsHE)EEASUSIE (A2 )KEX> 60,000 30,000 30,000
2 30,000
Al 30,000
301 et d = 60,000 30,000 30,000
2 30,000
Al 30,000
MIIEBESS 60,000 30,000 30,000
OAsT A== 243 800,000& x10H «5& 40,000
= 20,000
Al 20,000
OA=sk HE BE&z 400,000& x10H «58 20,000
= 10,000
Al 10,000
MRS (ASHE)INES SIS DR (AR) (A 16,000 20,000 A4,000
EUWER2Y )<KEX>
= 8,000
Al 8,000
201 2ur2 Y| 9,520 10,000 480
2 4,760
Al 4,760
01 At 22l 9,520 10,000 A 480
O1.det=EHl 1,680
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2N sEXNAAL
HE: 59 SELUNA(SYHYSM/5Y - 5&)
S ME2sgIls NEJ|e =4 (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
FsAZus DM N
21,0003 40 x2 1} & 1,680
2 840
Al 840
03.82dxd 7,840
-ASAELS BASY 7.840
EYH2AAHIIZ) 250,000 *83| x2 0t A 4,000
2 2,000
Al 2,000
EYAA(ZED)
120,000& #8353 2 Al 2t*x2 1} & 3,840
= 1,920
Al 1,920
206 M = dl 2,720 6,240 AN 3,520
= 1,360
Al 1,360
01 X2 8| 2,720 6,240 A 3,520
Of=AHEzRE a2 34 ,000& x40Y 23| 2,720
2 1,360
Al 1,360
301 et A= 3,760 3,760 0
= 1,880
Al 1,880
09 HAIAHI EAZ 3,760 3,760 0
OHsHELNR SHEAES EFAX o
20,000& 40 800
2 400
Al 400
OAsHELST &KX AHE EAX 0]
60,000& *40H 2,400
= 1,200
Al 1,200
OHsHE &K =4 7,000 x40 20t & 560
= 280
Al 280
HHSAAY (SEXD)(JIIEHIIE) 272,831 201,755 71,076
ol 2 A 122,117 74,431 47,686
AFOIHA2AHH| 45,333 0 45,333
101 Q124 H| 45,333 0 45,333
02 JIEA 2 % 45,333 0 45,333
OLBAIH (B2 s HLHL %=2l) 45,333
-3 34,554,000 1A 34,554
tEag 960
bl < Xt 40,000& x1H ~12& 480
JIEDI S 20,000& 2 x12& 480




2N sSEXNSEL.
M HE2IHH (&R D) (IIEH/IIE
& o 2d| (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-AHHSH Y 465,330 x 1 x23] 931
“A2H R 2R 7,291 3« 1H +45A 2t 128 3,938
e R=ge ] 140,000 x1H x 123 1,680
—H A S A 130,000& 1H 128 1,560
-tHere syl 50,000 x 18 128 600
- JtE &t 34,554,000 *84%*86%x 16/360 1,110
FAHE2 76,784 74,431 2,353
101 @14l 76,784 74,431 2,353
03 RIAHA2ZZ2RHE > 76,784 74,431 2,353
OsJl A ==¢l 76,784
-Jles 1,541,000& x2H x12& 36,984
-2HJtel= 60,0003 x2H 128 1,440
- 03 1,541,000& 2H x400% 12,328
-E2=E 1,541,000 »2H x50%*23] 3,082
- EF O 1,541,000 x2H x120% 3,699
- M Z Al 130,000& »2H 128 3,120
-wE 22| 70,0003 x2H 128 1,680
—2HALH| 50,0003 x2H 128 1,200
-AABS =& 50,0003 x2H 128 1,200
A R = 50,000 »2H » 128 1,200
g 40,0003 x2H 128 960
e R 1,541,000 x2H »10%* 122 3,699
RGPS 82,1003 x2H 24 3,942
-tEsg 80,000 x2H 128 1,920
-Igs 130,000& »2H 260
—-oHM 5} 35,0003 x2H 70
JlE &3l 150,714 127,324 23,390
f A2 38,574 38,524 50
201 £B-2%H| 38,574 38,524 50
01 Al 22/ 38,004 38,044 50
ORNSY Yetss) 4,530,0002 4,530
Ospags gsagy
100,000 1500 A+ 123 18,000
OsZEX3y &AL FH| 6,000,000 6,000
Ogayl(ga) 50,0003 x 1 %119 5,950
ORAN2YE =&l 2,030,000 2,030
O=A2] & xt 132,000& = 12& 1,584
02 =224l 480 480 0
ORN2Y 22R= 480,000& 480
AR FE NI 107,940 84,600 23,340
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sEXN& .

HYL2IAAY (s=X D) (IIEH/IIEH

Jl2 4l (2 &HH)

- _ _ RE]

SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
202 o4 | 107,940 84,600 23,340
01 2L I 107,940 84,600 23,340

OFIE=A0H| 20,000& *x17Hx13L x 128 53,040
ONZUEZRZX odd]|
20,000 17 3 x3& 3,060
OsHAEAN NEZ2FRE FRERFX0NH] 51,840
—RIHEMNEA(ED] S0, 58, PEL, &2
Jle) 20,0003 x6H »20 x12& 28,800
“JIEtAE A 2 SOIHYUHAIE A
20,0003 x6H x 16 x12& 23,040

R FEH| 4,200 4,200 0
203 & R =& H| 4,200 4,200 0
04 FEASHEYIFFEH| 4,200 4,200 0

OBAN2Y HRx=XH|(HH:299)
350,000& x12& 4,200
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